
Subject: Re: Top on VE0
Posted by dev on Thu, 09 Nov 2006 12:56:25 GMT
View Forum Message <> Reply to Message

the explanation can be very easy!
imagine some tasks, which spawns a child process, which does some job and exits. Parent
spawns another one and so on.
In this case CPU consumption is 100%, but top can't catch these processes (they work very little
time and exit), so top doesn't
show you any processes consuming the 99% CPU 
An example of such situation is gcc compilation of some project. each file is compiled quite
quickly.

AFAIR there was an option in top to show cumulitive process time. At least there was such an
option in ps.
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